
SAP ABAP table T329F {Print Control Table}

T329F

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

DRUKZ [CHAR (2)]

SORNR [NUMC (2)]

SPOOL [CHAR (2)]

SPOO2 [CHAR (2)]

SPOO3 [CHAR (2)]

SPOO4 [CHAR (2)]

SPOO5 [CHAR (2)]

SPOO7 [CHAR (2)]

T300

MANDT [CLNT (3)]

LGNUM [CHAR (3)]
 T329F-LGNUM = T300-LGNUM 0..N

1

T312S

MANDT [CLNT (3)]

SORPO [CHAR (30)]

LGNUM [CHAR (3)]

SOKNZ [NUMC (2)]

 T329F-SORNR = T312S-SOKNZ 
0..N

0..N

T329P

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

SPOOL [CHAR (2)]

 T329F-SPOO2 = T329P-SPOOL 

0..N

{0,1}

 T329F-SPOO3 = T329P-SPOOL 

0..N
{0,1}

 T329F-SPOO4 = T329P-SPOOL 

0..N

{0,1}

 T329F-SPOO5 = T329P-SPOOL 
0..N

{0,1}

 T329F-SPOO7 = T329P-SPOOL 0..N

{0,1}

 T329F-SPOOL = T329P-SPOOL 
0..N{0,1}


